To see how these procedures work, let’s see
what happens if we type HOUSE 30. LoGo reads the
input line and assigns the value 30 to the variable
“BIG in HOUSE. The first line of HOUSE is therefore
now equivalent to SQUARE 30. The variable “SIZE in
SQUARE is, in turn, assigned the value 30. SQUARE
is now run, with FD :SIZE becoming FD 30. A similar
procedure is followed when TRI is called.

Now try adapting the procedures for drawing
the five-by five board so that BOARD takes the size
of the square as an input.

the initial length must be multiplied to produce the
spiral effect. Different sets of inputs may be used
to achieve different effects — we tried 70 283 0.95,
70 143 0.95, and 20 243 1.05. Try other sets of
numbers and see what happens.

NOWRAP is a new command. This stops the
turtle ‘wrapping around’ the screen — when the
turtle reaches the screen boundary the procedure
will stop with an ‘out of bounds’ error message. In
many cases, the wrap-around effect can give
interesting results. In this procedure it _spoils the

Here’s a procedure that draws polygons, with

4-4 square, a
e polygons drdwn by
its in length A

"-\ 0 pMdum

so that it will\dra
g/ by-five). There

between different procedures, owever, theirus
makes debugging more. difficult and so they
should be used sparingly.

The command MAKE is used to assign values to
global variables. MAKE “SIDE 3 assigns 3 dsthe value
of the variable “INSIDE. MAKE “SIDE :SIDE~+_1
increases the value of “SIDE by one. The exa
meaning of the notation in this second example is:
find the value of the variable “SIDE, add one, then
assign the result back to the variable named *SIDE.
In each case, MAKE requires two inputs — the name
of the variable, and the value to be assigned to that
variable.

To sum up the programming features we have
covered in this instalment of the LoGo course,
we've designed some procedures for drawing
spirals. The main procedure is named EQSPI. This
requires three inputs: the initial length of the line to
be drawn, the angle that must be turned at each
‘corner’ of the spiral, and a scale factor by which
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spiral effect, so NOWRAP is used to turn it off.

~ Them edure EQSPI repeatedly draws a
ength of which is determined by the scale
actor), then through a fixed angle, and
finally alters the scale factor. The length of the

_ lines drawn either \increases or decreases,

d endmg on whether the scale factor is greater
tharier less than 1. The large number after REPEAT
is sunpl keep the procedure going for a long
time. If you’v n enough

Break) to sto ing. Most of the
aridble e exce ion of “SCALE.
ThlS is obal beca use ‘G es its value,

and this hew value must be made available to

S.FORWARDThus, “SCALE is used to communicate
]
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